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a7/ /3ty
(1)18 M HEB
1 49.74
2 48.904
3 489
4 48.948
5 48.623
6 48.781
7 48.713
8 49.246
*TIM_dat# 15774939
*TIM# 06'31.855
*MAX 49.74
*MIN 48623
*E 1y 48.981
*N'FYE 1.075
(2)3 FE HH
1 50.589
2 48.694
3 48.404
4 49.195
5 49.105
6 48.652
7 48.842
8 48.906
*TIM_dat 15775811
K TIM# 06'32.387
*MAX 50.589
*MIN 48.404
*F 15 49.048
*N'FYE 2.015
(34 =l &BY
1 52.334
2 50.947
3 51.264
4 50.773
5 50.668
6 51.19
7 50.331
8 50.258
*TIM_dat# 15791539
*TIM# 06'47.765
*MAX 52.334
*MIN 50.258
*EHy 50.97
*1N'FYE 1.977
(42 % MNDOH
1 52.247
2 51.378
3 51.004
4 50.794
5 50.978
6 51.479
7 50.373
8 50.426
*TIM_dat# 15792005
*TIM# 06'48.679
*MAX 52.247
*MIN 50.373
*F 1 51.084
*N'TYE 1.84
(5)7 hE DOYt=l+
1 54.149
2 52.051
3 52.23
4 52.025
5 53.08
6 52.985
7 51.799
8 53.169
*TIM_dat 15805204
*TIM# 07'01.488
*MAX 54.149
*MIN 51.799
*F 15 52.686
*N'FYE 2.392
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a7/ /32

(1)18

0N O WN =

*TIM_dat#
*TIM#
*MAX
*MIN
* 1
*N'FY%
(2)3

O NO OIS WN =

*TIM_dat#
*TIM#
*MAX
*MIN

* 15
*N'FUE
(34

0N O WN =

*TIM_dat#
*TIM#
*MAX
*MIN
*I 1
*N'FUE
(4 2

O ~NO OIS WN =

*TIM_dat#
*TIM#
*MAX
*MIN

* 1y
*NTYF
(57

O dOo T WN =

*TIM_dat#
*TIM#
*MAX
*MIN

* 15
*N'FUE

N B
50.619
48.089
48.91
48974
48.306
48.386
48.549
48.803
22348713
06'30.636
50.619
48.089
48.829
2.358
FE HIH
51.994
50.171
49618
49.335
49.109
4913
49478
49.346
22356636
06'38.181
51.994
49.109
49.772
2.875
Sl ey
51.826
50.335
51.194
50.989
50.404
51.11
50.752
50.526
22365553
06'47.136
51.826
50.335
50.892
1.488
A% MoH
55.654
52.495
53.197
53.897
53.824
52.145
52.298
52.162
22384409
07'05.672
55.654
52.145
53.209
3.656
hE OYf=it
54.322
52.363
52.943
54.779
55.218
54543
54.291
58.61
22395810
07'17.069
58.61
52.363
54633
5.602
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Daz=7F/ Sy

(1)18

COWwooNOoO U hhWN—=

_

*TIM_dat#
*TIM#
*MAX
*MIN

* 14
*NTU%
(23

COWoONOoO U h~WN—

_

*TIM_dat#
*TIM#
*MAX
*MIN
*NTU%
(32

COWoOoNOoO U hhWN—=

—_

*TIM_dat#
*TIM#
*MAX
*MIN
*F 1
*N'TY%
(4 4
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—_

*TIM_dat#
*TIM#
*MAX
*MIN
*N'TY%
(5)7

oG WN =

MK B

08'07.711

FE HEH

08'09.904

& MDOH

08'29.941

=1y ~D)

08'31.099

49.683
49.073
48.617
48.844
48.57
48.819
48.461
48.446
48.689
48.509
26266366

49.683
48.446
48.771

1.127

50.167
49.004
49.046
48.757
48.851
48.373
49.058
48.869
48.953
48.826
26268756

50.167
48.373
48.99
1.374

51.665
50.439
50.693
50.935
50.741
50.862
50.842
50.979
51.389
51.396
26289036

51.665
50.439
50.994

1.129

52127
50.789
50.578
50.784
50.731
50.69
50.816
51.565
50.99
52.029
26290075

52127
50.578
51.109

1.731

T8 OVt

53.614
52.307
51.702
53.701

53.78
54.409
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END

END

7
8
9
10
*TIM_dat#
*TIM#
*MAX
*MIN
*INTYF
END
O

54.05

5453

54.436

57.415

26319184

08'59.944

57.415

51.702

53.994

4553
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